PEHEXETTAAL $SH44 (20224)12A1BRE

BT T HHEH £ = AB BT T HHEH £ = AB
[E = 12451 | 10277 | 10,362 | 20,639 BR2TH| 2,294 1,810 1,720 3,530
malTH 820 657 651 1,308 BR3TH 2,049 1,648 1,437 3,085
ma2T B 3,270 2,652 2,709 5,361 BRATH 2,146 1,718 1,708 3,426
MmAa3TH| 3103 2,706 2,731 5437 [[{AH 4,050 3,358 3,126 6,484
FEEa4TH| 2697 2,225 2,170 4395 #WAE1TH| 2,093 1,681 1,532 3,213
FEAa5sTH| 2561 2,037 2,101 4138 WAE2TH 1,957 1,677 1,594 3,271
FRAE BT 14838 | 11,445| 11581 | 23,026 [(T/RHET 5,492 4,586 4,731 9,317
PRAERTTT B 4127 3,252 3,007 6,259 || JIIHET1ITH 1,972 1,656 1,767 3,423
PRAERT2T B 3,556 2573 2,655 5228 || JIIRET2T B 2,020 1,758 1,783 3,541
YRAERT3T B 1,914 1,465 1,476 2941 || ;IRET3TH 1,500 1,172 1,181 2,353
PRAERTAT B 2,029 1,617 1,657 3,274 i H 7,984 6,772 7,084 | 13,856
YRAERTSTE| 2,204 1,720 1,868 3588 ;IHEITHE 1,806 1,636 1,622 3,258
YRAERET6 T B 1,008 818 918 1,736 || ;T&vH2TH 1,676 1,263 1,258 2,521
A H] 19,820 | 14647 | 14878 | 29525 ;I®HHE3TH 1,819 1,700 1,999 3,699
AB1TH| 2375 1,871 1,822 3693 ;THME4TH| 2,683 2,173 2,205 4,378
ABT2TH| 3,001 2,325 2,190 4,515 (131 1 2,824 2,464 2,487 4,951
ABI3TH| 3736 2,784 2,689 5473 ST THE 1,150 1,018 1,047 2,065
AB4TH| 4895 3477 3,703 7,180 S22 TH 1,674 1,446 1,440 2,886
ABSTH| 2592 1,854 1,950 3,804 €7 A 13,313 | 10814 | 10303 | 21,117
ABI6TH| 3221 2,336 2,524 4,860 $HA1TH| 3,140 2,586 2,368 4,954
S 19541 | 14941 | 14708 | 29,649 gH2TH| 2944 2,648 2,346 4,994
hR1TH 3,851 2,850 2,878 5,728 53T H 1,581 1,305 1,204 2,509
hd2TH| 4,181 3,193 3,245 6,438 $AH4TH| 2084 1,649 1,627 3,276
hR3TH| 3677 2,849 2,594 5443 g A5TH 1,432 1,080 1,103 2,183
hR4TH| 4340 3,396 3,229 6,625 gH6TH| 2132 1,546 1,655 3,201
hR5TH 3,492 2,653 2,762 5,415 [IXFOET 10,063 8,275 7513 | 15,788
g 15411 | 11,904 | 12,081 | 23985| KXFET1TH| 3535 2,661 2,466 5,127
HhE1TH| 4681 3,617 3,521 7,138 || XK#NET2TH 1,988 1,643 1,469 3,112
Hh¥2TH| 2736 2,194 2,263 4457 KFEISTH| 2,342 1,916 1,679 3,595
RHE3TH 2,179 1,568 1,714 3282 || KFHET4TH 2,198 2,055 1,899 3,954
RHF4TH 2,902 2,144 2,176 4320 % = 7,974 6,398 6,412 | 12810
HhE5TH| 2913 2,381 2,407 4,788 EE1TH| 2548 1,991 1,940 3,931
il 54 17,504 | 14,099 | 12,857 | 26,956 EE2TH| 2489 2,195 2,076 4,271
hE1TH 3,770 3,205 2,855 6,060 ==3TH 2,937 2,212 2,396 4,608
hE2TH 1,656 1,327 1,383 271018 B 6,589 5,820 6,360 | 12,180
hE3TH| 389 3,131 2,803 5,934 BEITH| 2330 2,093 2,382 4,475
h¥4TH| 1,027 686 734 | 1,420 BHE2TH| 2415| 2086| 2230| 4316
hE5TH| 4828 3,774 3214 6,988 HE3TH 1,844 1,641 1,748 3,389
hE6TH| 2329 1,976 1,868 3844 (1B = 10,375 8,408 8,736 | 17,144
LrSH 13,203 | 10,733 9,689 | 20,422 E=E1TH 1,807 1,348 1,391 2,739
FTEHITH 3,439 2,831 2,582 5413 E=2TH 899 706 727 1,433
+FEH2TH| 3281 2,655 2,218 4,873 E=3TH| 2531 1,932 1,970 3,902
FEHEITH| 2,190 1,737 1,590 3,327 EE4TH| 2098 1,618 1,671 3,289
+EmR4TH| 2323 1,892 1,816 3,708 E=5TH 1,251 1,150 1,211 2,361
+FEHE5TH 1,970 1,618 1,483 3,101 E=6TH 1,789 1,654 1,766 3,420
e 11,957 9,592 8734 | 18326 || LE= 7,215 6,906 7514 | 14,420
HHE1TH| 3150 2,362 2,044 4406 | EE=1TH 1,351 1,290 1,330 2,620
BiFH2TH| 3487 2,841 2,624 5465 EE=2TH 1,400 1,380 1,446 2,826
FiHITH 1,656 1,536 1,312 2848 EE=3TH 1,224 1,153 1,342 2,495
HH4TH 1,937 1,564 1,559 3123 EE=4TH 1,360 1,217 1,403 2,620
FiH5TH 1,727 1,289 1,195 2484 | HEEESTH 1,880 1,866 1,993 3,859
A AS
= 2%1 TE g;gg ?3‘;2 ?g‘;’? 1ggi? hEX 209,388 | 168,385 | 165,592 | 333,977




